Déplacement y

Déplacement y

Stationaire-fixe-libre-10xn=05

100

0.75

0.25 - e

I

0.00 g

m

-0.25 - —

-0.50 =
— - -‘

-0.75

T—
=
0.50 =y ..‘
r-—"'

——_

L ]
L ]

4
L ]
o

Déplacement y

-1.00

L
L

(=)
N
F s

100

10

0.75 1

0.50

0.25 1

0.00

-0.25 A

-0.50

-0.75 -

-1.00

Déplacement y

100

0.75

0.50 1

0.25

0.00

-0.25

-0.50 A

-0.75

-1.00

100

0.75

0.50

0.25 +

0.00

-0.25 A

-0.50

-0.75

-1.00

Stationaire-fixe-libre-10xn=15

/—\

N

DN
N

7

ANY
N A

2 4

[=)]

Stationaire-fixe-libre-10xn=35




